AXRBETRAR

BREMRFE: KATREXSE
X B % K15 KEFIESKES

B B HAE 48 58 6H 78 8H 9/ 108 118 128 18 2R 38
- (°c) 13.1 212 24.0 29.0 322 26.8 26.4 15.8 13.0 76 6.2 155
KR () 14.7 20.7 23.4 24.8 27.3 27.0 24.7 18.7 14.0 105 10.3 122
RRBIEHR (mg/L) 0.3 0.3 0.3 0.2 0.2 0.2 0.2 0.3 0.3 0.3 0.2 0.3
i |—EHEE 100fE/mLEL T 0 0 0 0 0 0 0 0 0 0 0 0
#2 | KR BHINGWNIE =33 =33 =3k =3k =3k =33 =3k =3k =33 =33 =33 =3k
H3 [AFEVLRUZDIEEY 0.003mg/LELT <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 — —
4 [KEBERUVZOILEY 0.0005mg/LLL T <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 — —
#5 [LLURUZDIEEY 0.01mg/LIATF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
He [SRRUZDILEY 0.01mg/LIATF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
£ |ERRUZDLED 0.01mg/LIAT 0.002 — — <0.001 — — <0.001 — — 0.002 — -
#Hg |AfiyOLEEY 0.05mg/LIATF <0.005 — — <0.005 — — <0.005 — — <0.005 — —
Ho |HEHEBEER 0.04mg/LLLF <0.004 = - <0.004 = - <0.004 — — <0.004 — —
H10 [T AEMA AU RBEIES T 0.01mg/LLLTF <0.001 — — <0.001 — — <0.001 = - <0.001 = -
H |HBREERRUVEHBEER 10mg/LIATF 0.8 — — 15 - = 1.7 — — 0.7 — —
H12 [FVvRRUVZOILEEY 0.8mg/LUAT 0.09 — — 0.08 — — <0.08 — — 0.09 — —
H13 [RVRRUVZDILEY 1.0mg/LLLT <0.1 — — <0.1 — — <0.1 — — <0.1 — —
H14 (EEERER 0.002mg/LEL T <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 - -
15 [14-SAFH> 0.05mg/LEATF <0.005 — — <0.005 — — <0.005 — — <0.005 — -
16 :;;;_21_2’_7/']5;;1’;50 0.04mg/LLAF <0.004 - - <0.004 - - <0.004 - - <0.004 - -
17 [Connrey 0.02mg/LLLF <0.002 - — <0.002 - — <0.002 — — <0.002 — —
18 [ThIYAOIFLY 0.01mg/LLLF <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 — —
£19 [M)yOOIFLY 0.01mg/LLLF <0.001 — = <0.001 — — <0.001 — — <0.001 — —
£ |[RVEY 0.01mg/LELTF <0.001 - — <0.001 — — <0.001 — — <0.001 — —
Hot |1IBHREE 0.6mg/LEATF <0.06 — — <0.06 = = 0.08 = = <0.06 = =
#Ho2 (VOO 0.02mg/LELF <0.002 = — <0.002 — — <0.002 — — <0.002 — —
o3 |yOBRILL 0.06mg/LEL T 0.001 — — 0.009 — — 0.006 — — <0.001 — —
Ho4 (PHUDOFEFE 0.03mg/LLLTF <0.003 - - <0.003 - - <0.003 - - <0.003 - -
Hos |[T0EH/OOALY 0.1mg/LULTF 0.004 — — 0.004 - - 0.003 - — 0.005 — —
Hoe (RFRM 0.01mg/LAT <0.001 — = <0.001 = - <0.001 = - <0.001 = =
£27 [fakynOxrgy 0.1mg/LELF 0.012 = = 0.019 — — 0.014 — — 0.014 — —
#og |F)UDOOEFEE 0.03mg/LLL T <0.003 — — 0.005 — — <0.003 = = <0.003 = =
Ho9 |TOED/OOALY 0.03mg/LELF 0.003 = = 0.006 — — 0.005 — — 0.002 — —
#30 [TRERILL 0.09mg/LLLTF 0.004 = = <0.001 — — <0.001 — — 0.007 — —
H31 [RILLTILTER 0.08mg/LLLF <0.008 — — <0.008 — — <0.008 — — <0.008 — —
H32 |HEIMRUVZDIEEY 1.0mg/LLLTF <0.1 - - <0.1 - - <0.1 - - <0.1 - -
H33 [TILZ=ZVLRUVZDILEN 0.2mg/LELT <0.02 — — <0.02 - - <0.02 — - <0.02 — —
H34 (BHRUTZOIEEY 0.3mg/LULTF <0.03 — — <0.03 — — <0.03 — — <0.03 — —
£#35 |SRUVZDIEEY 1.0mg/LELTF <0.1 — — <0.1 — — <0.1 — — <0.1 — —
#36 |FMIVLRUZDIEED 200mg/LELTF 17.9 — — 8.3 — — 8.4 — = 19.1 - -
37 |RVAVRUZDIEEY 0.05mg/LIATF <0.005 — — <0.005 — — <0.005 — — <0.005 — —
£H3g |IBILHAA 200mg/LELTF 17 8 8 8 7 6 7 6 6 17 17 6
EH39 [ALYIA, 520 (BE) 300mg/LELTF 74 — — 54 — — 54 - = 74 = =
Ha40 [EREBEY 500mg/LELTF 158 = = 11 - = 11 — — 157 — —
Hat (A4 REEHEHR 0.2mg/LETF <0.02 — - <0.02 = = <0.02 = = <0.02 = =
Ha2 |OzHRIY 0.00001mg/LLL T - = <0.000001 <0.000001 0.000001 0.000001 — — — — — —
HA3 (2-AFMAYE V2= 0.00001mg/LLTF — — <0.000001 <0.000001 <0.000001 <0.000001 — — — — — —
Haa (A4 REFHEHF 0.02mg/LLATF <0.005 — — <0.005 — - <0.005 - - <0.005 - -
Ha5 (Jx/—)LEE 0.005mg/LIAT <0.0005 — — <0.0005 - - <0.0005 - — <0.0005 — =
Hae |HHEY (2AHRRTOC)DE) 3mg/LLLTF 0.3 0.4 0.4 0.4 05 0.4 <0.3 0.3 <0.3 <0.3 <0.3 0.3
#47 |pHIE 58L1 E8.6LLT 7.7 72 7.1 7.1 72 72 7.1 7.0 7.1 7.8 7.1 7.1
ag | EETHLIE EBLL EBALL EELL EELL EELL EELL EELL REELL REELL REELL EELL REELL
Ha9 (RS EETHLIE EBLL EBALL REELL REELL REELL EELL REELL REELL REELL REELL REELL REELL
Ho0 [BE SELLT <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05
51 | BE 2EUT <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1




